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Section — A is compulsory. All paits of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.
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Fill the relevant bubble against each question: S fteend sz Ly

How many grams of O, are presentin

a container, having  3x10”
molecules? {Atomic mass 0=16)
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According to Rutherford's Model the
circular paih in  which electron

revolves around nucleus is called: Track Lane Orbit Block
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Which of the following halogens has ) . .
3 lowest electronegativity? O Fluorine O Chlorine O Bromine O lodine
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Predict what will happen to the volume
of a gas, if its pressure is raised three _ )
times, keeping the temperature Wil remain Wilt become Wil become Will become
4 constant? O constant O one third O three times O two third
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Considering the glectronic
configuration of atoms, which atom
with the given electronic configuration
will be the most stable one and least 182,282,

5. reactive?
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Identify the pair of molecules having

g double covalent bonds: QO 0,1 O 6.0 O a.M O 6,180
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Charle’s law can be stated /
. represented as: P , V
7. — = Constant PV = Constant VT = Constant — = Constant
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At constant temperature on increasing
the pressure on a gas, the distance Remains
8 between molecules: Decreases Increases same Becomses zero
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The quantity of solute in a given ,
9 amount of soivent is called: O Concentration O Molarity Percentage O Solubility
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Solids in Sclids in
Gemstones are solutions of: liquid Solids in gas solids Gas in solids
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The oxidation state of Fe in Fe,0, is:
11. e O o O 3 +6 O -
e e i Fe t Fey0,
Predict which halogen can displace
chlorine from aqueous soiution of
12 potassium chloride: O Fiuorine O lodine Bromine O Astatine
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Time allowed: 2:40 Hours
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Total Marks Sections B and C: 53

CHEMISTRY SSC-

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. All parts carry equal marks. {11 x3=33)
{i) Identify the branch of chemistry:
a. A chemist determines percentage composition of brass.
b. A student studies condensation of steam.
C. A doctor observes reaction of medicine in body.
(i) What is meant by Oxidation state? Write any two rules for assigning oxidation state or number.
{iii) Butanoic acid is an organic compound containing 4 Carbon, 8 Hydrogen and 2 Oxygen atoms. Write its
empirical and molecular formula.
(iv) Molecular mass of glucose is 180 amu. Calculate the mass of 1.5 moles of glucose.
(v) State three uses of isctopes in medical field.
{vi) Write the electronic configuration of »7 . ldentify its group and period in Periodic table.
(vit) State Periodic Law. How can the properties of elements be predicted using Periodic table?
(vii)  Explain the composition of ‘Aqua Regia’. How itis used to dissoive the noble metals?
{ix) Silver and gold are used in jewellery and ornaments for thousands of years. Explain the reasons of
their use.
3] Show the formation of anions from the following non-metals using electron dot structures.
a. O (atomic number =8) b. Cl (atomic number=17)
{xi) Quartz is a hard brittle solid. It exists in Crystalline as well as amorphous forms. Differentiate between
crystalline and amorphous solids.
- (xit) What is meant by percentage of a solution? Write down four ways to express it.
(xiiy  Glucose and Gasoline both are organic compounds. Glucose is soluble in water but Gasoline is not.
Briefiy explain why?
(xiv)  What is meant by corrosion? Explain how food and beverages industries deal with corrosion.
{xv) Define oxidation and reduction in terms of gain or loss of electrons. identify oxidizing and reducing
agents from following reaction 2Na + Ci, = 2NaCl .
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3 a Discuss the main postulates of Bohr's atomic theory. Draw Bohr's model for 0O indicating
location of electrons, Protons and Neutrons. (5+1=6)
b. State Boyle's Law. Show its mathematical interpretation. Helium gas is used to fill balloons.
it has a volume of 1500¢m° at a pressure of 636 torr. When it is compressed to 786 torr, what
volume it will occupy? {2+2=4)
Q.4 a What is Octet rule? Using this rule draw electron dot cross structures for: (05)
(i) co, - ' (ii) H,S
b. Describe the ways in which ionic bonds are formed in KC! and MgO using electron dot-cross
structure. ' - (1+4=5)
Q.5 a What is molarity? KOH is used in the manufacturing of shaving cream. A flask contains 0.25 M KOH
solution. What mass of KOH is present per dm’ of solution. (04)
b. Explain the Principle, working and construction of Galvanic cell with the help of labelled
diagram. (1+2+3=6)
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2Na + Cl, = 2NaCl

Q04 Sy o
(2x10=20) (e Ludr i Dirve d9
(5+1) S B it OIS S50 (S L Sud S i Al
(2+2) 2= 15000 81 2096362 QoS AUk F (X g SEE SAS sy
Hr AL R F3786
{05) S S e SO s s it SIS e e Jure T i iy
Hs (i) co, ®
(1+4) SR I o G S P LS ST SMGOAKCE e
(04) ST+ e H 025M FKOHUELH Lioe iz byt / EPKOH e e ddr oAU
o U EKOHU dm®
(1+243=6) LS b L Gavaniceap /S o
—— 1A 2208 (HA) —
SUPPLEMENTARY TABLE
Atomic No 1 2 3 4 5 6 7 8 9 10 H 12 13 14 5 16 17 18 19 20

Symbol H He | Li | Be B C N 0 F Ne | Na | Mg | Al Si P 5 Cl Ar K Ca
Mass No 1 4 7 9 il i2 14 16 19 20 23 24 27 28 31 32 {355 | 40 39 40




